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WALT

WALT plot coordinates on the 1s' quadrant.
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v" I know what a quadrant is.
v' I can use the x and y axis to plot coordinates.

v T can find missing coordinates.
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1) Where is the originonthe

graph? 8

7

6

5

4

3

2) Where are the x- and y- 2

axis on the graph? N X

\0[J1 2 3 456 7 8 910"

3) Which number represents the y-coordinate in the coordinate pair
(5,7)? 7
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Have a think
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13 Have a think

g What’s the same?

7 What'’s different?
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WALT plot onthe 1¢ quadrant.

v I know what o quadrant is.

v I canvusethe v and y aris to-plot coordinates:
v I canvfind missing coordinates.




